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Read the Passage and then Answer the Questions that Follow:

Engineering is a diverse field that applies scientific and mathematical principles to solve real-world
problems. It encompasses‘disciplines like mechanical, electrical, civil, and aerospace engineering.
Engineers use tools like CAD software and mathematical calculations to design and analyse projects.
Mechanical engineers focus on machinery and mechanical systems, while electrical engineers work on
electrical systems. Civil engineers construct infrastructure like buildings and bridges. Aerospace
engineers specialize in aircraft and spacecraft design. Engineering often involves interdisciplinary
teamwork with professionals from different backgroiinds. Overall, engineers drive innovation and
improve the quality of life through their problem-solving skills and creative solutions.

Questions--- Part 1

1. Which of the following is NOT a discipline of engineering mentioned in the passage?

A) Mechanical engineering B) Electrical engineering C) Chemical engineering
D) Aerospace engineering

2. What are engineers’ primary tools for desiening and analysing projects?
g p ) gning YSing proj

A) CAD software B) Scientific principles C) Electricity
D) Interdisciplinary teamwork

w

- Which type of engineer focuses on the design of electrical systems?

A) Mechanical engineer  B) Civil engineer  C) Electrical engineer D) Aerospace engineer

4. What do civil engineers primarily construct?

A) Machinery and mechanical systems B) Electrical networks
C) Infrastructure like buildings and bridges D) Aircraft and spacecraft

n

. Which type of engineer specializes in aircraft and spacecraft design?

A) Mechanical engineer  B) Civil engineer  C) Electrical engineer D) Aerospace engineer

(=2

. What is a common aspect of engineering projects?

A) Interdisciplinary teamwork B) Exclusive focus on mathematical calculations
C) Isolation from other disciplines D) Limited use of CAD software

7. What is the main goal of engineers?
A) To drive innovation B) To adhere to scientific and mathematical principles
C) To solve theoretical problems D) To focus on creative solutions

oo

. Which word is a synonym for "diverse" as used in the passage?

A) Uniform B) Different C) Singular D) Identical

O

. Which word is an antonym for “improve” as used in the passage?

A) Enhance B) Worsen C) Refine D) Develop

(A)1




Part II. Choose the most appropriate answer for each item (A. B. C. or D)

10. Farah is afraid of ------ by plane.

A) go  (B)flying (©) fly (D) the fly

11.The best way to learn a language is ------ a little every day.

A) tospeak  (B) being spoken (C) to speaking . (D) spoken

12.Easy come, easy ---------

A) run B) done C)go D) fun

13, is the hospital from here?

A) How much B) How many C) How D) How far

14. I hate war, because war is..............

A)ugly B) destructive C)harrible D){a&b&c)

15. Every sentence in English must have a subject and ........

A) an object B)averb C) a preposition D) a conjunction
16. Skyscrapers are called ....ooovviieivinionin

A} small buildings B) tall buildings C) new buildings D) old buildings
17. January ............ the first month of the year.

A) is B) must C) can D) to be
18. 1 did not ------- the moon yesterday night.

A) come B) appear C) see D) shine
19. I’m sorry - I didn't to disturb you.

A) hope B) think C) mean D) make
20. Can vou translate this letter English Arabic me?

A) from /into/for B)into/from/for C)from/in/her D) for/from/in

21. Which of the following options is spelled correctly (J<'s)?

a) communication B) comunication C) communecation D) comunecation
22. 1 left the party early 1 didn’t feel well.
A) because B) but C) until D) so
| 23. Who uses a gun?
’ A) apilot B) a teacher C)asoldier D) a farmer
24.1 have a friend works for NASA.
‘ A)which B) who C) that he D) when
25. 1t is quarter past eight.
A) 8:04 B) 7:30 C) 8:15 D) 8:20
Good Luck!

(A)2
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Read the Passage and then Answer the Questions that Follow:

Engineering is a diverse field that applies scientific and mathematical principles to solve reakworld
problems. It encompasses disciplines like mechanical, electrical. civil, and aerospace engineering.
Engineers use tools like CAD software and mathematical calculations to design and analyse projects.
Mechanical engineers focus on machinery and mechanical systems, while electrical engineers work on
electrical systems. Civil engineers construct infrastructure like buildings and bridges. Aerospace
engineers specialize in aircraft and spacecraft design. Engineering often involves interdisciplinary
teamwork with professionals from different backgrounds. Overall, engineers drive innovation and
improve the quality of life through their problem-solving skills and creative solutions.

Questions--- Part 1

| 1. Which type of engineer focuses on the design of electrical systems?

A) Mechanical engineer B) Civil engineer C) Electrical engineer D) Aerospace
engineer

2. What are engineers’ primary tools for designing and analyzing projects?

A) CAD software  B) Scientific principles C) electricity
D) Interdisciplinary teamwork

(V8]

. Which of the following is NOT a discipline of engineering mentioned in the passage?

A) Mechanical engineering B) Electrical engineering C) Chemical engineering
D) Aerospace engineering

4. What is a common aspect of engineering projects?

A) Interdisciplinary teamwork B) Exclusive focus on mathematical calculations
C) Isolation from other disciplines D) Limited use of CAD software

n

. Which type of engineer specializes in aircraft and spacecraft design?

A) Mechanical engineer B) Civil engineer  C) Electrical engineer D) Aerospace engineer

6. What do civil engineers primarily construct?

A) Machinery and mechanical systems B) Electrical networks
C) Infrastructure like buildings and bridges D) Aircraft and spacecraft
7. What is the main goal of engineers?
A) To drive innovation B) To adhere to scientific and mathematical principles
C) To solve theoretical problems D) To focus on creative solutions
8. Which word is an antonym for “improve” as used in the passage?
A) Enhance B) Worsen C) Refine D) Develop

o

. Which word is a synonym for "diverse' as used in the passage?

A) Uniform B) Different C) Singular D) Identical

(B)1




Part II. Choose the most appropriate answer for each item (A, B. C. or D)

10. January ............ the first month of the year.
A) is B) must C) can D) to be
11. I left the party early I didn’t feel well.
A) because B) but C) until D) so
12. Easy come, easy --—-------
A) run B) done C) go D) fun
13, - is the hospital from here?

A) How much B) How many C) How D) How far

14. I hate war, because war iS..............

A)ugly B) destructive C)horrible D)(a&b&c)

15. Every sentence in English must have a subject and ........

Aj an object B)averb C)apreposition D) a conjunction
16. Skyscrapers are called ......................

A) small buildings B) tall buildings C) new buildings D) old buildings
17. Farah is afraid of --—-- by plane. :

A) go (B) flying (C) fly (D) the fly
18. T did not ----------- the moon vesterday night.

A) come B) appear C) see D) shine

19. It is quarter past eight.

A) 8:04 B) 7:30 C) 8:15 D) 8:20
20. Can you translate this letter English Arabic me?

A) from/into/for  B)into/from/for  C)from/in/her D) for/from/in

21. Which of the following options is spelled correctly (J=!£5)?

A) communication B) comunication C) communecation D) comunecation

22. The best way to learn a language is ------ a little every day.

A) tospeak  (B) being spoken (C) to speaking (D) spoken

23. Who uses a gun?

A) a pilot B) a teacher C)asoldier D)a farmer
24. 1 have a friend works for NASA.
A)which B) who C) that he D) when
25 I'm sorry - I didn't to disturb you.
A) hope B) think C) mean D)make
Good Luck!

(B)2
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